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 Solution Use the `STPFAST` program. Define the formula and rules. In this example, the total number of participants (T) multiplied by the number of entries per minute (M) produces the required forecast. To calculate the number of entries per minute, you first need to calculate the number of entrants each hour (N), as shown in Table 7.2. Table 7-2. Formula for St. Paul Winter Carnival crowd
forecast Crowd forecast component| Description| Value --- | --- | --- T| Total number of participants| 106.49 M| Number of entries per minute| 11.09 N| Number of entrants per hour| 2.75 N×M| Number of entries per minute (N×M)| 27.55 Enter the following code into the IDE. #include "Echo_StPaulWinterCarnival.h" using namespace std; int main(void) { double hz,mhz,crowd; int N,T,M,i; N = 0; T

= 0; M = 0; hz = 0.0; mhz = 0.0; crowd = 0.0; cout > A; 82157476af
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